
ASSEMBLY INSTRUCTION 

CAUTION: 

1. Please read these instructions carefully before assembly. Count and organize all parts before 

you begin. 

2. Assemble product on a clean and soft surface, such as a piece of carpet, so as to prevent the 

surface paint of parts from scratching off. 

HARDWARE&PARTS LIST 

 

                     

 

NO. DESCRIPTION QTY 

A Table Top 1 

B Leg 3 

C Connecting Ring 1 

D M8 Flat Head Screws 3 

E 

M8 Flat Washer 3 

M6 Flat Washer 6 

F M6 Flat Head Screws 6 

G 
NUT M8 3 

NUT M6 6 

H 

M8 Spring Washer 3 

M6 Spring Washer 6 

I 
M8 Bolt Cap 3 

M6 Bolt Cap 6 

J Foot Pads 3 

K     Spanner  1 

L Glass 1 

ASSEMBLY: 

1. Place the table top upside down on a smooth surface. 

2. Screw D into the threaded holes on the underside of the table top. 

3. Attach the legs to the table top using (E, H, G) M8 on each thread. Do not tighten completely 

at this stage. 

4. Attach the connecting ring to the legs using (E, F, H, G) M6. 

5.  Put the assembled table on a flat surface, after that tighten all the screws and nuts. Fix the 

adjustable foot pads under table legs to ensure the table is level. 

6.  Put the bolt cap（I）onto the nut. 

                                                                                

DO NOT OVER TIGHTEN 

(Aluminum is soft metal, over tightening may strip thread or break parts) 

 



 

 

 

Sorrento Bistro Table Glass Stone Inlay 

 

ASSEMBLY INSTRUCTIONS 
 

 
 

Please read the Instruction carefully before assembly. Make                                

sure you have all the parts and hardware as identified on the 

parts list. 

 

 

 

 


